
Find Pairs of Values  1

1. List all the possible positive whole-number values which could be used to satisfy this 

equation to check if Thomasz is correct. 

2. Using only the numbers on the number cards, complete the value of each letter.

3. Find 5 values for p and q to satisfy the statements below.

c + d = 15 

9 4 3 5 54 2

a + b = 13

b x c = 20

d – e = 52

p and q are positive whole numbers.

p is a square number.

q is a 2-digit number less than 13.

pq < 100

There are 10 possible pairs for c and d.

Thomasz

a = b = c = d = e =
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